Serial No.

Time Allowed : Two Hours

O DO 8O

Arg TOLD T

5o nor go——

op

EN THIS TEST BOOKLET UNTIL W
Test Booklet Serie,

T.B.C

.. HGY-D_LKU.V

1706079  TEST BOOKLET
GENERAL STUDIES
Paper——ll i Marks : 209

1.

9.
10.

ONS
LG TR ATION, YOU SHOULD CHECK

IMMEDIATELY
AFTER THE E EXAMIN
THAT THIS TEST BOOKLET DOES ﬁgﬁ”ﬁ‘é&% UNPRINTED 0 gsgogg O%EMP{SSING PAGES

» . I S

Please note that it is n
at it ode and
1 the candidate’s responsibility 111::0 : : ission or discrepancy at

and Test Booklet S

eries A, B, Cor D fully and

g:e mpﬁate places in’th'e On;R ;:::ver 3Brlmet;. Any omission/ discrepancy will render

- < er Sheet liable for rejection.

tl?:Bhgi):g ‘ggtgr };our Rgll Number on the Test Booklet in ﬁ‘

e a o P - »
the Tt Dotbiot ngside. DO NOT write anything else on |
This Test Booklet contains 80 items i ch i s printed both in Hindi and English,
. questions). Each item is printe -

Each item comprises four responses( (answers)). You will select the response which you want to

than one correct response, mark
nse for each item,

mark on the Answer Sheet. In case you feel that there is more
the response which you consider the best. In any case, choose ONLY ONE respo _
Answer Sheet provided.

You have to mark all your responses ONLY on the separate
See directions in the Answer Sheet. -

All items carry equal marks. ;

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. - ‘
After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted

to take away with you the Test Booklet. _
Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers : -
NALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE.

THERE WILL BE PE
(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that

question will be deducted as penalty.

(i) Ifa candidate gives more than one answer, it will be treated as a wrong answer even if oné of
the given answer d there will be same penalty as above to that

s happens to be correct an
question. : ey
(idi) If 2 question i8 left blank, i.c., no answer 1s given by the candidate, there will be no penalty

—

for that question.
OT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

DO N

o1 @1 T2 wara 3 r{)‘hﬂ?—m & HEYB QU 3T %l

48



greater (i.e., the entire world). Therefore, the
responsibility of Providing employment cannot

be left to Foreign Direct Investment (FDI). The

current FDI inflows are volatile over time and

across sectors and regions, which is a
S e T T —_—
Necessary consequence of their search for the

highest returns. The adverse con

sequences are
unstable employment and an accentuation of

income and regional inequalities. A probable

positive consequence of foreign investment is

the inflow of new technology and its subsequent

diffusion. However, the technology diffusion is

—

not at all certain because the existing state of

physical and human capital in India may prove
’__—§_‘_—___'_

inadequate for the diffusion.

L. With reference to the above passage, the
following assumptions have been made :

1. Relying on foreign investment in
the long run is not an economically
sound policy. P

HGY-D-1xuv/s0C

2. Policies must be-undertaken to
reduce volatility in foreign private
investment,

3. Policies must be undertaken to
strengthen domestic private

investment. @

4. Public investment should be given
priority over private investment.

5. Substantial public investment in
education and health should be
undertaken. 7}

Which of the above assumptions is/are

Passage—2 :

Ellany opportunities to harness the highly

skewed, s€asonal and spatial distribution of

monsoon flows, which occur in a four-month

I i
period from June to September annua]l/y, have

been lost! /Since these few months account for

most of the rainfall and consequent freshwater

availability, the need for holding rainwater in

reservoirs, for subsequently releasing it for use
-—'——-_-_'-_ ‘—__—.—,_—____.

over the year, is a necessity nobody can afford

to overlook,) Climate change will continue
affect weather conditions and create w

P ——




Yischarged into the sea every year.

2. With reference to

! the abgye Passage,
which of the following couldbe the most
rational and Practica

tor Tndia> mplications
or India? ——————o— "

1. Inter-linking of rivers shoulg
b
undertaken, 1

2. A network of d

ams and cang]g
should be bujit across the country
for proper distribyti

. 3. Farmers shoulg be provided easy
loans for'digging borewells.

Usage of water for agriculture
should be regulated by law.

Distribution of river water among
regions should be regulated by the
Union Government. )-O

Select the correct answer using the code
given below.

1 and 2

Passage—3

People will invest in education whenever they
arc granted the economic freedom to fully enjoy
its benefits| Again, this is for the obvious reason

on of water. , ~~

that the return on education increases as the
level of economic freedom nlsgsl_ﬁn__g_mple,
thanks to Tower tax rates, are allowed to retain
o= the higher income that fhey gain from

each incremental level of education, it makes
eminent sense to invest in education.|On the

HGY-D-1kuy/50¢

other hand, when the government -1 :
tax the higher income of educated individuals
at even higher rates, it makes very little sense

to invest frreducating oneself fu@ﬁé same
incentives apply to parents who dggl_tilc,_ﬂL-.
whether to invest in their children’s education,

3. With reference to the'above passage, fh‘?
following assumptions have been made :

1. Lower tax rates in a country
invariably translate into gr‘cater
investments in higher education.

2. Investment in the education ?f
children ensures their economic
freedom.

3. Economic freedom has a positive
impact on building up human
capital.’/?ﬂ

Which of the gbove-assumptions is/are

valid?

\/‘A only

(b) 2 only

()3 -
Yo

Passage—4

Our urban bodies cannot possibly ensure
Sustainable delivery of water in our cities
unless financing mechanisms are put in place.
Water delivery requires heavy investment in

collecting it from a natural source, treating it
0_make it potable, and laying a distribution

network of pipes for delivery to the users. It also
requires investments in Sewerage infrastructure
and sewage treatment plants so that the sewers
can carry the wastewater to

these plants to
ensure that no untreated Sewage is discharged

IPT.O.




baCk into natural water bodies, Jif _
Were rich enough to meet : our cities

5 € ent
Coulq pe delivered free. They ap en'::mctost, water

q. What is the most logical
and
message conveyed by the pass:;:?cml

(@ Urban local bodijes must recover

costs through user charges

(b) Urban local bodies are not efficient
enough to meet the

. water
requirements of our cities

(¢ Water shortage in our cities is a

perennial problem that cannot be
solved.

{(d In view of the water crisis in our
cities, there is an urgent need to
limit the population of cities by
adopting an upper limit of
population size.

5. With reference to the above passage, the
following assumptions have been made :

1. Rich cities only can
sustainable delivery of water.

2. Sustainable delivery of water in

ensure

_cities means much more thay

supplying water to households.
Which of the above assumptions is/are
valid?
fa) 1 only
(b) 2 only

Both 1 and 2
(d) Neither 1 nor 2-

Passage—5

about half of

In India, agriculture still engages
of its farms

its workforce, and about 85 per cent :

are Small and marginal. Compared 10 China
B and Vietnam, which have CXpericnccd t:ast
. structural and rural transformation, | India’s

| HGY-D-LkUv/s9c

o

story is of slow transformation. As a result,
poverty reduction in India was at a much slower
pace during 1988-2014, compared to China
and Vietnamz India’s poverty. reduction was —
slow during 1988-2005, buf during 2005-2012,
it acCelerated dramati i
faster than during the earlier period. What did

Indi{a—ii;:’clt_lﬂ'n_gM@Q? Research reveals
that™ the r%lili\fwl——m‘ged
Signi___'_ﬂgggy’ by more than 50%) in favour of
agriculture in the wake of rising global prices.
This boosted private investments in agriculture
by more than 50%. As a result, agri-GDP
growth touched 4-1% during 2007-2012 as
against 4% during 2002-2007. The net
surplus of agri-trade touched $25 billion _in
2013-2014; real farm wage 2
annum. All this led to unprecedented fall in
poverty.

6. With reference tp-the above passage, the
following assumptions have been made :

1..~ Structural and rural transforma-
tion is impossible when farms are

mainly small and marginal. >ﬂ

2. A good price incentive can trigger
investments in agriculture.

3. _India needs to build value chains
for high-value agri-products like
livestock and horticulture

4, Higher global prices of agricultural
commodities are essential for
India’s poverty reduction.

Which of the above assumptions are
valid?

(@) l/md/S
2 and 4

(c) d3

(d) 3 and 4

| P.T.O.
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7. Which one of the follow;
best reflects the critic
the passage?

ng statements
al message of

(@ lr:ii.a should create large-scale
ofi-farm  rurg] employment to

. reduce poverty in the near future.

(b) India should create g large number
of farmer producer companies.

\/ Private investment in agriculture
should be given priority over public

investment,

{(d) Inclusive agricultural growth is

key to reduce poverty in the near
future.

8. Two Statements S1 and S2 are given
below with regard to four numbers
P, O, R and S followed by a Question :

S1: R is greater than P as well as Q.
S2:Sis not the largest one.

Question : ﬂ> %

Among four numbcr P, Q, Rand S,
which one is the largest? K

hich one of the following is correct in
pect of the above Statements and the

Juestion?

.Sl alone is sufficient to answer the
Question.

alone is sufficient to answer the
' Question.
"# 1 and S2 together are sufficient to

answer the Question, but neither
alone nor S2 alone is sufficient

swer the Question.

S2 together are not

17, A

h'ZL=84

9. Two Statements S1 and S2 are given

below followed by a Question :

S1:n is a prime number.

S2:n leaves a Mhen
divided by 4.

Question :
If n is a unique natural number
between 10 and 20, then what is n?

Which one of the following is correct in

respect of the above Statements and the

Question?

(a) S1 alone is sufficient to answer the
Question.

{b) S2 alone is sufficient to answer the
Question.

(c) S1 and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.
S1 and S2 together are not
sufficient to answer the Question.

10. Two Statements S1 and S2 are given
below with regard to two numbers
followed by a Question :

S1: Their product is 21. a Xk = 20
S2 : Their sum is 10. ath =102
Question :
What are the two numbers?
Which one of the following is correct in
respect of the above Statements and the
Question?
(a) S1 alone is sufficient to answer the
Question.
(b) S2 alone is sufficient to answer the
Question
; a.};d S2 together are sufficient to
anawer the Question, but neither
Sl :é%pe nor S2 alone:is sufficient
to answer the Questxon.
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Directjons for the following ¢ (six) 1t
ems :

Read the following five Passages ang
i an

the jtems that follow. Your answers t:wer

Items ghould be based on the SO :se

nly.

Passage—1

I .
N India, over the last decade or so, 1aboyr has

been departing agriculture, but is only going to

e W e
construction and unregistered manufacturing
which are not markedly better jobs. Services

where labour tends to be most productive, are

not generating the additional jobs the country
TR
needs. India will need 24 million or so jobs over

the next decade. The new sector, e-commerce,
can at best close only half the jobs gap. Only
those sectors that drive domestic demand such
as health and education can comfortably fill the

other half.

11. Which one of the follbwing -is best
implied in the passage?

(a) Strong measures need to be taken
to reduce the rural to urban

migration of labour.

() The working  condition in
construction and unregistered
manufacturing needs = to be
improved.

[ Service sector has been reducing
the problem of unemployment.

I

Increased social sector spcndfng
is imperative for Jarge-scale jo

creation.

HGYD-Lkuy 500

11

Passage—2

In India, the current focus on the right to

rent focus on the right to0
privacy is based on some new realities of the

digital age( A right is a substantive right only if
it works in all situations, and for everyone.

E Hight tonften " exprasaion -Jor an individual

about her exploitation, for instance, is
mcaninglm actual availability of
security that guarantees that private force
cannot be used to thwart this righ—z._‘The role of
the State, therefore, is not just to abstain from
prev:mcc expression, but also to
actively ensure that private parties are not able

to block it.

12. 0:} the basis of the above passage, the
following assumptions have been made :

should have some
ensure its

1. State
institutions to

appropriate role in a digital society. >/

2. ‘State should ensure that private
parties do not violate the citizens’
right to privacy.

3. Digital economy is not compatible
with the idea of not violating the
citizens’ privacy.

Which of the above assumptions is/are

valid?

fa) 1 and 2
’ (6) 3 only

(¢ 1and3
\/(,d/‘-'z only

[ P.T.O.
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Passage—3

One of the biggest ironies around water is that

it comes from rivers and other wetlands. Yet it

1S seen as divorced from them. While water is

USei as a resource, public policy does not

always grasp that it is a part of the natural
€cosystem. Efforts at engineering water systems

are thus efforts at augmenting water supply
rather than strengthening the capacities of
ecological systems.

— e oL

13. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

(a) Rivers and other wetlands should
be protected under Ramsar

Convention. )&

(b) Engineering water systems should
be modernized -and further

augmented. Z’ﬂ

Wetlands néed to be reinforced as
more than just open sources of
water.

(d Water supply should not be free of
cost so as to prevent its misuse or

overuse.

Passage—4
Asset allocation js the most important
e, Mevonsisi; iy fila ¢
investment decigion we will ever make, and
vill ever max
sadly, most of 5 do not give that decision the
; — ___——'—-_——__'_..
importance it qeserves, We are adamant about
seeKing predictamil: . ture. We tend
\taiihty with our futt

HGY-D-lkyy; 590 13

to think of investing in risky 8sss 5=
exwm_mmﬂm. We also

dislike fluctuating returns and the__lis_s_,_s?f
control of investment. We think our monecy 18

bést left idle, unproductive but safe. There is

no asset that is risk-free. We could lose our

, our banks

e ———S
jobs, our homes can lose value, our banz=®

can go bankrupt, our bonds can default, the

government can collapse and companies we

chose fondly may cease to exist. But we cannot
live life assuming that all these extreme events

'-——————'__—-—— .
are waiting to happen, and all atﬂ%

All these extreme forms of risks we know will

not manifest at the same time.

a

14, Which-one of the following statements
_-best implies the suggestion given by
the author of the passage?

(a) Distribute your wealth across
different kinds of assets so that

your risks would be minimized. )ﬂ

(b) Risk-taking behaviour should be
a necessary component of your

personality if you want to generate
wealth.

) While making investments, find a
trustworthy asset management
- organization which would manage

your wealth for you. >0

\/d)/ You should know .tk
P

" your money is &

e T N L T S T O T N e A S T o T M A A R R S N N e



Passage—5

Although most of the Geneticall
Crops cultivated now are genetically engmeered

Ior a single trait, in future, crops genetically
€ngineered for more than one trait will be the
norm, Thus, biotechnology’s role in agriculture
and the regulation of the same cannot be
undersfodd solely in We current
Beneration of GM crops. Instead, there is a need
tmm@. taking into account
varioys aspects, includin socio-economic
: e potential of the technology
can be hamcssed while minimizing negative
lﬁfpﬁmﬁn the l.mportance of biotechnology
In dcvm varieties that can help in climate
Chang;wmn .and adaptation, not using
biotec as a part of the climate change
action plan cannot be an option. Domestic
regulation of biotechnology cannot be viewed in
isolation of trade policy and obligations under
various international treaties and conventions.

15. With reference to the above passage, the
following assumptions have been made :

1. Biotechnology re la on is an
‘evolving process.
2. Participation of pgople is needed

in policy decisions regarding

biotechnology regulatio:?o,

Biotechnology regulation should
ke into account socio-economic

s in decision-making.
involvement of

oves its effectiveness in dealing
the country’s trade policies and
ational obligations.

the above assumptions are

15

16. Which one of the following statements
best implies the crux of the passage?
(a) " Precautionary principle is not given
importance in currcnt_ debate on
developing GM crops.
Biotechnology is not currently used

(b) -
in climate change mitigation
adaptation mechanisms.

,\_/(67/ Biotechnology’s role is not confined
to the current priorities of
developing GM crops.

(d) The negative impacts of
biotechnology are not properly
understood.

.'/
a How many zeroes are there at the end of

the following prod é‘ 25 él

1x5x10x15 @ 30 ~ ‘
X K 5x 60
il 10 (b 12
fc) 14 (d) 15

t XYZ be a three-digit number, where
(X+Y +Z) is not a multiple of 3. Then
(XYZ +YZX + ZXY) is not divisible by
@ 3 ® 9
(c) 37 d) (X+Y +2)

19. Let p,q, r and s be natural numbers
such that

p- 2016 =9+2017 =1 -2018=5+2019

(ﬂ) Zero
\J,‘fg_(éw Ninel ’
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man walks down the backs; & i
house straight 25 metres, th::ldt f his
the right and walks 50 metreSUrns‘to
then he turns towards Jeft ot Eg&l?‘);
walks 25 metres. If his house fa, aga{n
the East, what is his direction fro(::s ﬂ:o
starting point? a

(@) South-East

() South-West

\/ North-East
W( North-West

22. Two Statements are given followed by two
Conclusions :

Statements :

All numbers are divisible by 2.

Al mumbers are divisible by 3.

-__'__.__,__— I
Conclusion-I : —

All numbers are divisible by 6.
Conclusion-II. :
All numbers are divisible by 4.

Which of the above Conclusions
logically follows/follow from the two
given Statements?

\/ﬁ%ﬂy Conclusion-1

(b} Only Conclusion-II

fe) Neither Conclusion-1 nor

Conclusion-II

(d) Both Conclusion-I and

Conclusion-II

HGY-D-LKUv/s9C .

/N N oo
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23. Two Statements are given followed b
Conclusions :

Statements :

All cats are dogs.
All cats are black.

B

Conclusion-I :
All dogs are bla.ck.}d

Conclusion-II :
Some dogs are not black. \/

Which of the above Conclusions

logically ~ follows/follow from the
two given Statements, disregarding
commonly known facts?

(a) Only Conclusion-1

\/,r/omy Conclusion-1I

(c) Neither Conclusion-1 nor
Conclusion-II

(d) Both Conclusion-I and
Conclusion-II

24. Consider the following sequence of

numbers :
2, 2 L

i S
[514F[3]9)sE D)2 6
~§63852243496

How many odd numbers are followed by
the odd number in the above sequence?
e ———————

(@ S

x/”’/ 6
(c) 7
(d 8

[ P.T.O.




A is 16th from the jepy o
nd in
boys and V'is 18th from 1pe ri:hrt():’n:f

G is 11th from 4 lowards

the right and
3rd from V towards the right end, llo:v
many boys are there in the row?

fa) 40

&

42

{d Cannot be determined due 1o
insufficient data

26. Three Statements S1, S2 and S3 are
given below followed by a Question :

S1: Cis younger thqn D, but older than
Aand B @ h2(Cx
&OSQ:Disthcold st. %
S3: A is older than B.

4
28.

A g |

1o V ' ?
let x, y be the volu “"n be the

“that of P and mass of

TR

\V

masses of two metallic cubes P
respectively. Fach side of Q is two times
' s two times that

of P. Let u=m/x and v=n/y Which

one of the following is correct? (Q
¢/
(a) v rd D
’.
) we<dv 7 / —

;‘”2;

29. The average age of a teacher

students is 20 years. If all the three
students are of same age and the
difference between the age of the

Question :
. is 20 years,
Who among A, B, C and D is th teacher and each student is
youngest? © T,S, AQ then what is the age of the teacher?
Which one of the following is correct in " )
, 5 28 = A
respect of the above Statements and the o2 (a) 25 years ‘@__L;Z

Question?
fa) S1 alone is sufficient to answer the
Question.

(b) S1and S2 to sufficient to
e Question.

fcy S2and S3 er are sufficient to
er the Question.

S1 and S3 together are sufficient to
answer the Question.

- (T27 -;HOW many integers are there between
1 and 100 which have 4 as a digit but

are not divisible by 4?
@) 5
(b) 11
(e 12
(d 13

HGY-D-LKUy/g9 oo P
oo 0

2

19

1.205_ (b) 30 years

pw/ss years

ChraryT+3(T-2)
L, =

T4+ 31-60=9°9
LT = lho

(d) 45 years

30. A person bought a car and sold it for
¢ 3,00,000. If he incurred a loss of

20%, then how much did he spend to

buy the car? 70
e
T = |ad
(a) ¥ 3,60,000 ';,_
" 2
3,65, -—
) OOOC- LE’% SP = 3,00,000
() ¥ 3,70,000 C:t-34
Aﬂ/' 3,75 s Ao iﬁ“j’% ¢
15,0 — «
- (Huloy c
M — 5,00 000
Y [P.T.0

=
Qv = 00w — 300000
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2413452+ 32+3V7

31. In the sum

®+1®+5®@+@®+®1=100®

for which digit does the symbol ® stand?
| @ 2
‘\/‘b‘)/:3
) 4
I
@ >

f you have two straight sticks of length

7-5 feet and 325 feet, what is the
minimum lengt.h can you measure?

0-05 foot . "? ' S
(b) 025 foot 2. 28
(c) 1 foot

f’” S e LT
. feet
\/”/ P & 14—1?2-

simple mathematical ope?q'gnrif _Falch+ i
)_ber of the sequence 14, 18, 20, 24,
munth

] ct to prime numbers. Which one of
- the following is the next number in the

seguence?

21

122- /\__

book
OW from ae_g,];r_whnﬂﬂ-
@ pages are numbered in the usual
first Paga_ﬂ_},,’

manner starting from the ot
The sum of the numbers on

remaining pages is 195. The torn page
contains which of the following

numbers?

(@ 5,6
M 7,8
(c) 9,10
(@ 11, 12

onsider the follgging argngcrpcnt that
has somé ‘missing letters :

a | e
abab_b_bcb_dcdo_gegﬁd
A b e

The missing letters which completc the
arrangement are

WJ/

(b) a, b, d, e

\%c,c,c

(d b,c,d e

et A3BC and DE2F be four-digit

‘numbers where each letter represents a
different digit greater than 3. 1f the sum
of the numbers is 15902, then what is
the difference between the values of
A and D?

(a) 1
(b) 2
(c) 3

o

(@) 4

[P.T.O.
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37. Two Statements §

1 and S2 are pi
below followed by R

8 Question :
S1 : There are not more than two figures
On any page of g S1-page book.

S2 : There is at least one figure on every
page. \

Question :

39. A family of two generations consisting of _

i has
six members P, Q, R, S, Tﬂd U

three males and three females. There
are two married couples and two
unmarried siblings. U is P's daughter
and Q is R's mother-in-law. T is an
unmarried male and S is a male, Which

Are there more than 100 figures in

f the following is correct?

that book? oL 0 ';:M g P
Which one of the following is correct in Gy |‘,L.‘_U-nr Vashter yﬁ:ﬁh

respect of the above Statements and the (@) R is't/’s husband. \|_;

Question? L) ( F) k( @@’

(@ Both S1 and S2 are sufficient to { i
R is S’s wife.
answer the Question, but neither 34 i :
S1 alone nor S2 alone is .sufficient

tq answer the Question. (c) S is unmarried.

(b) S1 alone is sufficient to answer the
Question.

(d) None of the above
S1 and S2 together are not i

sufficient to answer the Question.

(d) S2 alone is sufficient to answer the

Questmn_. : - 40. If in a particular year 12th January is a

Sunday, then which one of the following
__J__ZL,.‘ - : ¥ _

,
s

onsider the following data :

4:,{}&,53.55— e

s 'correct? '
Average | Average .
rarks. i mar.’:fd b - (@) 15th Julyis a Sunday if the year is
English Hindi : b enpiyear: _
Girls 9 8 ! ;
Boys 8 7 . ) et 0 :
Overall average marks 8-8 % (b) 15th July is a Sunday if the year is

What is the value of x in the above
table?

(a) 7-8 e’ é{
(b) 76 ?45,

(c) 74

(d 72

HGY-D-LKUv/59c

not a leap year.

(¢) 12th July is a Sunday if the year is
a leap year,

(d) 12th July is not a Sunday if the
year is a leap year.

[P.T.O.
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Directions for the followi
ng 6 (‘ix, item| .

Read the following five
Passa

the items that follow. Your a:::v and answer

items should be based on the pas(:: to these

ges only,

Passage—1

Bank credit to the industrial sector ha

shrinking. Its decline has been as Sta.rted
~concern as credit growth is essential t serious

vestment. The problem’s origins lieo h:;evtl;}_

'ﬁfﬁgﬂl-etfe reforms of the last 25 years. An
ssttutional change that should have f;llc;wed

the 1991 reforms should have been setting up _
of a resolution corporation for banks. In a
market economy with booms and busts, banks
should be allowed to be set up and to fail.

-_— .
Today, W€ cannot shut down banks because-
there is NO proper_system to shut them down.

Weak loss-making bank; continue to need more
e T

capital.
41. Which one of the following is the most
cal and rational inference that
can be made from the above passage?

{a) Indian banking system is not able
to help the country in its economic
growth.

(b) Economic reforms that started in
1991 have not helped in improving

the economy to expected levcls.yd
institutional

\)ﬂ’/ India lacks the
mechanism to deal with the failure
of banks.
(d) Encouraging the foreign
investments in our industrial
alternative to this

sector is a good
sector’s depende
credit.

nce on pbanks for

Passage—2

India has tremendous potential for solar
e have to stop

energy. We all realize that W
burning fossil fuels to meet our eneTe needs.

HGY-D-LKUV/59C 25

But certain renewable resources are still going
through their cost curves and learning curves

to get the required amount of output. The
committed 0

Indian Government has strongly 2727
its targets of rcduW
by 2030, and towawtgd/é‘
5“’°”SWW
W
ting

has algo invested heavil
e wary of inves

However, business houses ar
too heavily in renewable energy at 2 time when

the technology is not yet ready.
42. Which one of the followin is the most
{ inference that

logical and rationa °
can be made from the above passage?
to reduce

India’u commitment
nlikely to be

emissions by 33% is U

achieved. y
(b) India should import gas rather
than invest in renewable resources. )a

\/d/(}etting renewable resources t0
: market t00 soon may be costly.

India should put in more efforts in
-the cxploration—of- natural gas.

above ge, the
have been made :

often provide
ostly subsidies 10T

technologies that may not be ready
e e
in the near future. >

India’s commitment of reducing
emissions by 33% by 2030 shall be
on the basis of gas-based cconom:;/
Which of the above assumptions is/
valid?
(a) 1 only
2 only
(c) Both 1 and 2
Neither 1 nor 2

!

/

(@)

(d)

43. With reference to the
- following assum tions

1. Governments




Pnssage.__a

Genome editing is

Todification. Ge ddtfe.rent f.mm genome
finding the part of a plant o, th11

mder it less Vulnerable l:;t
of resistant to certain herbicides, or t:: '
yields. Researchers use laEalag scj;ncref\se
dissect the genome an—‘i\"e&ir_it Whi:;im' to
process that occurs naturally Whe'n e is a
mimWW—are
new mutations that enable the ow up
future attacks. This evolutionary Proeess‘;n:::;
effectively be speeded up now that it is possible
to examine plant genomes in detail in
laboratories, and create mechanisms through
which the relevant genes can be altered very
precisely.

involves
could be
disease,

44. With reference to the abov_é 'passage, the
following assumptions have been made :

1. Genome editing does not require
the transfer of genes from one plant

to another.f
2. Through enome editing, the

chosen genes can be altered
precisely in a manner akin to the

adapt to the environmental factors.
Which of the above assumptions is/are
valid?

{a) 1 only

(b) 2 only

(¢ Both 1 and 2

Neither 1 nor 2

Passage—4

Many people understand the connection

d health in

natural process that helps plants to7a

between solid Wﬂ

térms of the consequences of ung flies
of dfy garbage whic ccom_&_ﬁi’@"

ther
and other vermin. Howevel, ere 18 ano

HGY-D-LKUV/59C
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that is,
t wcll-undcrstood,
ool fic solld waSte

when unscienti

nes with poor drainage 27
d sewage into drains W}‘{lch
torm water during rains-

aspect that is
what happens
management combi
dumping of untreate

are meant to carry 8 ‘
The result is choked drains which aré full of

stagnant water breeding mosql.{itoes, resulting
in the spread of water-borne discascs.

45. In the context of India, which one of :::
following statements pest reflects

critical message of the passage?

(@) In India, the drainage networks
are not separate for sewerage and
storm water.

(b)) Urban local bodies do not have
enough resources and legislative
authority to deal with the problems

of waste management.

\/z/ Solid waste management should be
‘ _-integrated with the maintenance of
drainage and sewerage networks.

(d) Bad management of solid waste
and sewerage systems by our
municipalities is the reason for

" drinking water shortages in our

cities. Y
‘ Passage—5
In Part 1l of the Constitution, which assures

people . certain fundamental rights, Article 25

proclaims persons are equally entitled
to freedom of conscience and the right freely to

profess, practise and propagate religion”. What
o notice is that this proclamation

js prefixed with the words “subject to ic
order, morality,
provisions of this » which set gonditions
precedent for the legal protection igi

practices of an nity. T
of this prefatory r in Arti i
constitute a subordifation clause placing o

{

[ P.T.O.

health and to the other

s e T T, )
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fundamental rightg Bids e
and above the right to

uoneq i, p
other fung “eligiong freeq
those amentg] < h om, Among

equality before 15\;, apny  S0ts jg

€qua) :—QEhLL
la ssut(? =, at th_e Qu'tset mtﬂcti()n
Titer articles to g

TOte
person =
. s
religion alone N the bagsis of
= —
“'

( a} State Shau not

ite interfere , with the
religious affairs of the citizens.70

M Religious freedom under the

~ Constitution is open to State
intervention. ,

(c) Religious freedom of the citizens
is not covered under fundamental

rights.

?o

(d) Religious practices of any
community are immune to State

laws. }d

How many different 5-letter words (with
or without meaning) can be constructed’
using all the letters of the word ‘DELHI
so that each word has to start with D
and end with I?

47.

e D e
(b) 18 e o o
(c 12 3’ ﬁ-"g'

HGY-D-LKUV/59C
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o e

e‘ bottle contains 20 litres of liquid A.__

4 litres of liquid A1s taken out of it. and
replaced by same quantity of lliquld B.
Again 4 litres of the mixture is . en
out and replaced by same quantljfy of
Tiquid B. What is the ratio of quantity of
liquid A to that of liquid B in the final

mixture? 1% <
A+ 7
@ 4:1 e
8 b &
(b) 5:1
(¢ 16 :9
(d 17 : 8 y
49. The average score of a batsman after
his 50th innings was 46-4. After 60th
innings, his average score increases by
2:6. What was his average score in the
- -last ten innings? p (
: Coe bl
S ————
: : 9 0
(b) 91
~ . Dmeter 4y,
V(I-!/JGZ ; Eo
(d) 49
@‘ s a result of 25% hike in the price of rice
per kg, a person is able ¥
ess rice for ¥1,200. What was the
original price of rice per kg?
yAY
(b) ¥ 40 W
(c) €50
(d) ¥ 60

29

J YAX6 o — Y14a b\ SE

o
Q440 — 9320
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ctlon‘ for the following 6 (six) items

p

gcad € follomfl'llgl five passages and answer
o jtemS tha; ob ow. Your answers to these
s should e based on the passages only.

Passage—1

s in the late 16th century first

5 panish ship
o Tthe potato tuber from South America to
e whereby in the ry
1

- . early 19th centu it
il pecome 2 reliable Backup to cereal crops,
. 3 the cold, rain-soaked soils of

parﬂcuw
were soon 2 olly

freland: The Irish &
mnt on the Eotato as their staple food.
and  theY werg planting primarily onec
’ eW' whose
b

pWW
genetic frailty wou
fungus ‘Phyto, i ( -
dmw ith 0%
the countrys —stroying nearly 5] the Lumpers which of tF Jlowi
s~ paCT The resulting famine killed oF 4 ’i-agional_ and ractical imp
dispiaced millions. : implicatiorw? 2
India’s Public Distribd :on Syste™
: should be monitored by the Union
§1. Which one of the following statements Gove mment. _
‘7 f;:tp;:‘ge;t; the critical message of | 5. Girls el cncourage 4 to
j v d_eelaym e and first PT€ cyf
{a) For introducing any foreign plant 3. Mothers should b€ encourage
into a country, the¢ soil and climate : to breastfeed their children
conditions of at country should At jmmediately after birth.
be suitable- /4. The supply of safe drinking water
and proper sanitation facilities to all
() Asa staple food of a countrys tuber tj_hgul_t_{ be ensured. "
crops like tato cannot replace e Authorities <hould ensure the
cereal crops vaccination as prescribed_
fung infections ::Ii" ;ﬂ:ﬁt ;2:0:::rrect answer \{shlg the code
(a) and 4

{c) Some of the

t be d
stopped from sprcading across » ‘ .

N M ,| C/Gﬁ(
\/W/Rclying on 2 homogcncﬁus food (c) y
no ; 3 and 5 only
HGY-D-LKUV/59C 31 & a a




Passage_3
' .o the cod®
The pulse variety Pusa |, » Select the correct answer using
potential to be grown ?n At?ar 16’ has the givz.lilo;y
son . e padd r .
;g;oe:e:i;ﬁln jab, Haryana and Uuaf g::mﬁ (:)/2/?
2300 ke/h y n all of India. Its yield (abes () 1 d5
o thg ectare} will be significantly gr otut (c) only
o . v ©
se of the existing varieties and becaatl.l:: W 1 and 4 only

its size will be uniform, it wi
. , it will be
han . amenable t
mechanical harvesting, an attractive feature fo(:- Punge——4

farmers in north i
ern India who currently use In India, authorities always look to stor® tae
feservoirs during

this technolo
Arhar straw, -l?nlilf::: pzzgdy;&Mw. important, maximum amount of wate’ i R o1
can be ploughed back in{ aw; degresninn the monscon seasom, which 18 el B2
straw, the problem is th X Fhe 391‘1_ In paddy irrigation_and generati of elec.:maty flu
i does n is the high silica content, the summer months/ It is an internationally
oes now n. accepte pracﬁce e W
Ii t_h.e e M%Mer reservoir should be kept below a certain level
ww just needs to run a before the onset of monsoon season: is is 8O
rolt;i)/vatg to cut the leftover straw into “pieces, that when monsoofl Tains come, therc is space
which can . bf,_._glgughed back . and . will to store the excess rainwater and also SO t
dew — All this_is difficult. with- watér can be released in 2 regulal er.
iefiover_paddy states that canmot be easily DU the authorities store. the maximum amount
s. therelc of water in T oirs even before the close of

salvaged or ploughed back. Farmers, therefore, ‘
the monsoon, only to ensure greater electricity

chc;;é tFe easiest option of simply burning it.
‘ generation and irrigation.
‘ 53’ : : 54. With reference to the +#bove passage, the
l ? Wh’:ih Oi; ithm; ri:llo r:lgl freantt;; 1:::: following assumptions have been made :
ra a nces that c ) )
on. erens 1. High risks involved in holding

- maximum water in reservoirs are

from the passage?
due to our over-dependence on

1. Farmers’ income will be higher with
pulse cultivation than with paddy hydropower projects-
cultivation. 0. Storage capacity of dams should
2. Pulse cultivation causes 1ess ; _not be fully used before or during
pollution 28 compared 1o paddy monsoon- season.  *
cultivation- - 3. Role of dams in flood control is
: underestimated in India S('
pe used to improve : .
Which of the above a,ssunﬁ)tions is/are
B valid? e
ndian
e (@ 1 and 2 only

traw has 1o
,\?ddy 40 , \/lbi/ 2 only..
G0 o
e : {c) .
lture 18 the main i
dtzgrlcu ing. )/ (d and 3
r .

33




Passage—5

Economic liberalization in India was shaped

largely by the economic problems of the

government than by the economic priorities

of the peo;:?or by the long-term development

objectives. Thus, there were limitations in
,""_'—-—’
conception and design which have been

subsequently valldated by experience. Jobless

growth, persistent poverty and rising inequality
have mounted as problems since economic

liberalization began. And all these years later,

four quiet crises confront the economy;

—_—

agriculture, infrastructure, industrialization

and education as constramts on the country’s

future prospects. These problems must be
resolved if economic growth has to be sustained

and transformed into meaningful development.

55. Which of the following is/are the most

rational and logical inference/

inferences that can be made from the
passage?

1. It is essential to rethink and
redefine the economic role of the
State in the quest for development.

2. India has not made effective
implementation. of its policies in
social sectors nor made sufficient

investments in thcm.>(

HGY-D-LKUV/59C
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Select the correct an
given below.

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

the
B6. With reference to the above passage,

following assumptions have been made :

1. India’s economy needs to be greatly
integrated with global economy so
" as to create large number of jobs

and to sustain its growth
momentum. >0
2. Economic liberalization would

cause large economic growth which

-+ would-reduce poverty and create

sufficient employment in the long
run.

Which of the above assumpt is/are
ptions is
valid? :

(@ 1 only

(b) 2 only
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. wner offers i N
discount options on anthert- Tollowing 59. What is the missing term @
i article to a following?

5 , .. MNol : @

- gu;:cesswc discounts of 10% and i $ o »

0%, and then pay a service tax

of 10% AN P q

. : a) NPJL A

2. Su::cesswe discounts of 20% and “ e S v

10%, and then pay a service tax g

of 10% (b) NOJM
3. Pay a service tax of 10% first, then M N Cl t

successive discounts of 20% and (c) NPIL :

10% {
Which one of the following is correct? '\/4, JM N P M
fa) 1 only is the best option for the

customer.

(b)”2 only is the best option for the among the

customer. 60. What is the 1argcsf iy g

following?

{c) 3 only is the best option for the
customer. é . é 17
NS =
' @) = P i
(d) Al the options are equally good for - \2
the customer.

L% 64

58. The letters from A to Z are numbered (b) (l)—s —
from 1 to 26 respectively. If GHI = 1578 4
and DEF = 912, then what is ABC
equal to? G , I |1
i e T A 2 :
@ - &\%ﬂg)* . @5'- %)
R e R 4P Fim
(b) 468 . . : !
() 262 D E 15 il (1]_2 4 6 9_; -
: d |- e
(d) 246 , ﬁ(@ ~ \§ 1
by S+4
B [ P.T.O.
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\/{}_/ﬁé's petween 2v ant
(d) les petween 3V and 4v km/hr

llowing S

number of points of
nofa square and a circle
e above statements js/are
Y
or 2
es half time in 10 oo a certain
wnsirée upstrcam.
ratio eed in still

o= v o/l 5
= i L2ty Z T
L 0(2 v LCM
per /]’l Y7
in son {_Eiaf_EOmplete 209 num/b‘f’ a5
cos_da_}_’S Ahd anothes % of work 65. How many pair® of natural o of wb”‘
complete 25% of person T ce8 here such that the diffe"
6 T of the same work i
ys. 1T they work 2 squares 19
v Ot ork together, in h 4
amy days wil , n_how t)
c will 40% of the Work be (a) 3
Ompleted? (C) 5 {d’ MVC
(@ © (b) 8 hich one of the follo% ing i 5 i8
in it8 valu®
{C) 10 {d) 12 mim’mum chaﬂgc ﬂumcfawf ﬂfld the
car tavels b added 0 both raction® 2/% 3/
s from a place X to place Y at denomind or of the % / 4
an average speed of v km/hr 4/5 and 5/67 1/ 0/
X a_t an average speed of 2v km/hr, 74}0 2/3 IU/“ (b) 3/4
again from X to Y at an average speed of 4/5 (d) 5/6
3”km/hfandagamfrothoXatan o o ¢ not
3 enge speed of v lan/bx 10eH BY e e s aivisible PVE Lo TP°
average speed of ' : ;o 6. Wwhich onc
_ peed of the car for the entire divisible 17 ]
journey followin divisible PY w2 oX e
(@) is less thanV km/hr ) 31
(b) lies between ¥ and 2v km/hr
d 3v km/hr

e 1
o V(z)” 100

69. .;A:, vcséél ﬁl}i o
s one-thi

- 207KB-
! vcsscI? 508

(@) 10 ke
(b) 15k8
20 k

f watc:wéighﬂ 40

filled,
e weight of the empty
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T s
71. What i 1 )

3 1 geateat 1
5 M ang 83 ength such that

\411%‘ \
of e
x? : ws

@ 1Um 3=\

2z
) 11 m h

3

() 1im £ _

A

w/l%m :z}l_f‘f_ | 7S
3.

72. Consider the following data :

Year Birt,h:a;ate Death rate_l)
to111021 | (48 355
| 1921-1931 464 363
los1-1041 | 452 | %
o e I D FE e
1951-1961 417 i
1961-1971 E:
jo71-1981 | 37T
For which period WS
ot rte PXT
(a) 1911-192

41

&£

3
Y

Ty v
W% W Wi rwws -
- .t  d4Nnnen

il %avfgﬂ/\,

73. Th
e recurring decimal rcprcucntatioﬂ

11272727... is equivalent 10
fa) 13/11
() 14/11
(c) 127/99

(d) 137/99

74. What is the least four-digit number
when divided 3, 4, 5 and 6 leaves 2
remainder 2 in each case?

yRY

oY% 5= 2

(@) 1222

n of a city, 40% men

75. In adult populatio
and 30% women arc b
entoge_of married adnz
___/_—___'

js th& percentage

' more than one man,
5ws and widowers?

(@ 331% Lo ~
|

(b) 34%
(c) 342%

(d) 35%



g
17

.‘
76. What is th : 6’? B
e remainder v&l&:%' 79. In a class, therc W d
ou
dent fro? e shifwd

51x27x 35x62x 75is di
5is divided by and C. If oné stu
wo students from the
ns 10
t hBPP;u of theé

v ha
to u then WH&2

(@) S0
average wei
(b) 5 class?
(€ S (@) 1t increase
(d) 1
(b} It decrcascﬂ

[ P.T.O.




